# SOME SUBCLASSES OF P-VALENT FUNCTIONS INVOLVING THE EXTENDED MULTIPLIER TRANSFORMATIONS 

R. M. EL-ASHWAH


#### Abstract

New classes of $p$-valent analytic functions are introduced. Such results as inclusion relationships, integral representations, integral-preserving properties and convolution properties for these function classes are obtained.


## 1. Introduction

Let $A(p)$ denote the class of functions $f(z)$ of the form:

$$
\begin{equation*}
f(z)=z^{p}+\sum_{n=1}^{\infty} a_{p+n} z^{p+n} \quad(p \in \mathbb{N}=\{1,2, \ldots\}) \tag{1.1}
\end{equation*}
$$

which are analytic and $p$-valent in the open unit disk $U=\{z: z \in \mathbb{C}$ and $|z|<$ $1\}$. If $f(z)$ and $g(z)$ are analytic in $U$, we say that $f(z)$ is subordinate to $g(z)$ written symbolically as follows $f \prec g$ in $U$ or $f(z) \prec g(z)(z \in U)$, if there exists a Schwarz function $w(z)$, which (by definition) is analytic in $U$ with $w(0)=0$ and $|w(z)|<1(z \in U)$, such that $f(z)=g(w(z))(z \in U)$. Indeed it is known that $f(z) \prec g(z)(z \in U) \Rightarrow f(0)=g(0)$ and $f(U) \subset g(U)$. Further, if the function $g(z)$ is univalent in $U$, then we have the following equivalent (cf., e.g., [11]; see also [12, p.4])

$$
f(z) \prec g(z) \Leftrightarrow f(0)=g(0) \text { and } f(U) \subset g(U)
$$

Let $P$ denote the class of functions of the form:

$$
p(z)=1+\sum_{n=1}^{\infty} p_{n} z^{n}
$$

which are analytic and convex in $U$ and satisfies the following condition

$$
\operatorname{Re}\{p(z)\}>0, \quad z \in U
$$

For functions $f_{j}(z) \in A(p)$, given by

$$
\begin{equation*}
f_{j}(z)=z^{p}+\sum_{n=1}^{\infty} a_{p+n, j} z^{p+n} \quad(j=1,2), \tag{1.2}
\end{equation*}
$$

[^0]we define the Hadamard product (or convolution) of $f_{1}(z)$ and $f_{2}(z)$ by
\[

$$
\begin{equation*}
\left(f_{1} * f_{2}\right)(z)=z^{p}+\sum_{n=1}^{\infty} a_{n+p, 1} a_{n+p, 2} z^{n+p}=\left(f_{2} * f_{1}\right)(z) \tag{1.3}
\end{equation*}
$$

\]

Catas [4] extended the multiplier transformation and defined the operator $I_{p}^{m}(\lambda ; \ell)$ on $A(p)$ by the following infinite series

$$
\begin{align*}
I_{p}^{m}(\lambda, \ell) f(z) & =z^{p}+\sum_{n=1}^{\infty}\left[\frac{p+\ell+\lambda n}{p+\ell}\right]^{m} a_{n+p} z^{n+p} \\
(\ell & \left.\geq 0 ; \lambda \geq 0 ; p \in \mathbb{N} \text { and } m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}\right) .1 .4 \tag{1}
\end{align*}
$$

We note that:
$I_{p}^{0}(1,0) f(z)=f(z)$ and $I_{p}^{1}(1,0) f(z)=\frac{z f^{\prime}(z)}{p}$.
By specializing the parameters $m, \lambda, \ell$ and $p$, we obtain the following operators studied by various authors:
(i) $I_{p}^{m}(1, \ell) f(z)=I_{p}(m, \ell) f(z)$ (see Kumar et al. [10] and Srivastava et al. [18]);
(ii) $I_{p}^{m}(1,0) f(z)=D_{p}^{m} f(z)$ (see, [3], [9] and [15]);
(iii) $I_{1}^{m}(1, \ell) f(z)=I_{\ell}^{m} f(z)$ (see Cho and Kim [5] and Cho and Srivastava [6]);
(iv) $I_{1}^{m}(1,0) f(z)=D^{m} f(z)$ (see Salagean [17]);
(v) $I_{1}^{m}(\lambda, 0) f(z)=D_{\lambda}^{m} f(z)$ (see Al-Oboudi [1]);
(vi) $I_{1}^{m}(1,1) f(z)=I^{m} f(z)$ (see Uralegaddi and Somanatha [19]);
(vii) $I_{p}^{m}(\lambda, 0) f(z)=D_{\lambda, p}^{m} f(z)$, (see El-Ashwah and M. K. Aouf [8]).

Also we note that
$\lambda z\left(\left(I_{p}^{m}(\lambda, \ell) f(z)\right)^{\prime}=(p+\ell) I_{p}^{m+1}(\lambda, \ell) f(z)-[p(1-\lambda)+\ell] I_{p}^{m}(\lambda, \ell) f(z) \quad(\lambda>0)\right.$,
and

$$
I_{p}^{m_{1}}(\lambda, \ell)\left(I_{p}^{m 2}(\lambda, \ell) f(z)\right)=I_{p}^{m 2}(\lambda, \ell)\left(I_{p}^{m_{1}}(\lambda, \ell) f(z)\right)=I_{p}^{m_{1}+m_{2}}(\lambda, \ell) f(z)
$$

for all integers $m_{1}$ and $m_{2}$.
Also if $f$ is given by (1.1), then we have

$$
I_{p}^{m}(\lambda, \ell) f(z)=\left(\phi_{p, \lambda, \ell}^{m, n} * f\right)(z)
$$

where

$$
\phi_{p, \lambda, \ell}^{m}(z)=z^{p}+\sum_{n=1}^{\infty}\left[\frac{p+\ell+\lambda n}{p+\ell}\right]^{m} z^{p+n} .
$$

Throughout this paper, we assume that $p, k \in \mathbb{N}, m \in \mathbb{N}_{0}, \in_{k}=\exp \left(\frac{2 \pi i}{k}\right)$ and

$$
\begin{equation*}
f_{p, k}^{m}(\lambda, \ell ; z)=\frac{1}{k} \sum_{j=0}^{k-1} \epsilon_{k}^{-j p}\left(I_{p}^{m}(\lambda, \ell) f\right)\left(\epsilon_{k}^{j} z\right)=z^{p}+\ldots .(f \in A(p)) \tag{1.6}
\end{equation*}
$$

Clearly, for $k=1$, we have

$$
f_{p, 1}^{m}(\lambda, \ell ; z)=I_{p}^{m}(\lambda, \ell) f(z)
$$

Making use of the extended multiplier transformations $I_{p}^{m}(\lambda, \ell)$ and the above mentioned principle of subordination between analytic functions, we now introduce and investigate the following subclasses of the class $A(p)$ of p -valent analytic functions.

Definition 1. A function $f(z) \in A(p)$ is said to be in the class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$ if it satisfies the following subordination condition:

$$
\begin{equation*}
\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{1.7}
\end{equation*}
$$

where $\varphi \in P$ and $f_{p, k}^{m}(\lambda, \ell ; z) \neq 0 \quad\left(z \in U^{*}\right)$ is defined by (1.6).
Remark 1. Putting $p=\lambda=1$ and $m=\ell=0$ in the class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$, we obtain the function class $S_{s}^{(k)}(\varphi)$ which introduced and studied by Wang et al. [20].
Definition 2. A function $f \in A(p)$ is said to be in the class $K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$ if it satisfies the following subordination condition:

$$
\begin{equation*}
(1-\alpha) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m}(\lambda, \ell ; z)}+\alpha \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) \tag{1.8}
\end{equation*}
$$

for some $\alpha(\alpha \geq 0)$, where $\varphi \in P$ and $f_{p, k}^{m}(\lambda, \ell ; z)$ is defined by (1.6) and satisfying $f_{p, k}^{m+1}(\lambda, \ell ; z) \neq 0\left(z \in U^{*}\right)$.
Remark 2. Putting $p=\lambda=1$ and $m=\ell=0$ in the class $K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$, we obtain the function class $K_{s}^{(k)}(\alpha, \varphi)$ of functions which are $\alpha$-convex with respect to k-symmetric points ( see Yuan and Liu [21]).
Definition 3. A function $f \in A(p)$ is said to be in the class $C_{p, k}^{m}(\lambda, \ell ; \varphi)$ if it satisfies the following subordination condition :

$$
\begin{equation*}
\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \quad\left(g \in S_{p, k}^{m}(\lambda, \ell ; \varphi)\right) \tag{1.9}
\end{equation*}
$$

where $\varphi \in P$ and $g_{p, k}^{m}(\lambda, \ell ; z) \neq 0\left(z \in U^{*}\right)$ is defined by (1.6).
Remark 3. Taking $\lambda=k=1, m=\ell=0$ and $\varphi(z)=\frac{1+z}{1-z}$ in the class $C_{p, k}^{m}(\lambda, \ell ; \varphi)$, we obtain the class of p -valent close-to-convex functions (see Aouf [2]).
Definition 4. A function $f \in A(p)$ is said to be in the class $G_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$ if it satisfies the following subordination condition:

$$
\begin{equation*}
(1-\alpha) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)}+\alpha \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) \quad\left(\alpha \geq 0 ; g \in S_{p, k}^{m}(\lambda, \ell ; \varphi)\right) \tag{1.10}
\end{equation*}
$$

where $\varphi \in P, g_{p, k}^{m}(\lambda, \ell ; z)$ is defined by (1.6) and $g_{p, k}^{m+1}(\lambda, \ell ; z) \neq 0\left(z \in U^{*}\right)$.
Remark 4. (i) Putting $p=\lambda=1$ and $m=\ell=0$ in the class $G_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$, we obtain the class $Q C_{s}^{(k)}(\alpha ; \varphi)$ of functions which are $\alpha$-quasi-convex with respect to k-symmetric points (see Yuan and Liu [21]);
(ii) Taking $p=\lambda=k=\alpha=1, m=\ell=0$ and $\varphi(z)=\frac{1+z}{1-z}$ in the class $G_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$, we obtain the familiar class of quasi-convex functions (see Noor [14]).

In order to establish our main results, we shall use of the following lemmas.
Lemma 1 [7, 12]. Let $\beta, \gamma \in \mathbb{C}$. Suppose also that $\varphi(z)$ is convex and univalent in $U$ with

$$
\varphi(0)=1 \text { and } \operatorname{Re}\{\beta \varphi(z)+\gamma\}>0 \quad(z \in U)
$$

If $p(z)$ is analytic in $U$ with $p(0)=1$, then the following subordination:

$$
p(z)+\frac{z p^{\prime}(z)}{\beta p(z)+\gamma} \prec \varphi(z)
$$

implies that

$$
p(z) \prec \varphi(z) .
$$

Lemma 2 [16]. Let $\beta, \gamma \in \mathbb{C}$. Suppose that $\varphi(z)$ is convex and univalent in $U$ with

$$
\varphi(0)=1 \text { and } \operatorname{Re}\{\beta \varphi(z)+\gamma\}>0 \quad(z \in U)
$$

Also let

$$
q(z) \prec \varphi(z) .
$$

If $p(z) \in P$ and satisfies the following subordination:

$$
p(z)+\frac{z p^{\prime}(z)}{\beta q(z)+\gamma} \prec \varphi(z),
$$

then

$$
q(z) \prec \varphi(z) .
$$

Lemma 3. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
\begin{equation*}
\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{1.11}
\end{equation*}
$$

Proof. In view of (1.6), we replace $z$ by $\in_{k}^{j} z(j=0,1,2, . ., k-1)$ in $f_{p, k}^{m}(\lambda, \ell ; z)$. We thus obtain

$$
\begin{align*}
f_{p, k}^{m}\left(\lambda, \ell ; \in_{k}^{j} z\right) & =\frac{1}{k} \sum_{n=0}^{k-1} \epsilon^{-n p}\left(I_{p}^{m}(\lambda, \ell) f\right)\left(\epsilon_{k}^{n+j} z\right) \\
& =\epsilon^{j p} \frac{1}{k} \sum_{n=0}^{k-1} \epsilon^{-(n+j) p}\left(I_{p}^{m}(\lambda, \ell) f\right)\left(\epsilon_{k}^{n+j} z\right) \\
& =\epsilon^{j p} f_{p, k}^{m}(\lambda, \ell ; z) \tag{1.12}
\end{align*}
$$

Differentiating both sides of (1.6) with respect to $z$, we obtain

$$
\begin{equation*}
\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}=\frac{1}{k} \sum_{j=0}^{k-1} \epsilon^{-j(p-1)}\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}\left(\epsilon_{k}^{j} z\right) \tag{1.13}
\end{equation*}
$$

Therefore, from (1.12) and (1.13), we find that

$$
\begin{align*}
\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} & =\frac{1}{k} \sum_{j=0}^{k-1} \frac{\epsilon^{-j(p-1)} z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}\left(\epsilon_{k}^{j} z\right)}{p f_{p, k}^{m}(\lambda, \ell ; z)} \\
& =\frac{1}{k} \sum_{j=0}^{k-1} \frac{\epsilon_{k}^{j} z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}\left(\epsilon_{k}^{j} z\right)}{p f_{p, k}^{m}\left(\lambda, \ell ; \in_{k}^{j} z\right)} \tag{1.14}
\end{align*}
$$

Moreover, since $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$, it follows that

$$
\begin{equation*}
\frac{\in_{k}^{j} z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}\left(\in_{k}^{j} z\right)}{p f_{p, k}^{m}\left(\lambda, \ell ; \in_{k}^{j} z\right)} \prec \varphi(z) \quad(j=0,1, . ., k-1) . \tag{1.15}
\end{equation*}
$$

Finally, by noting that $\varphi(z)$ is convex and univalent in $U$, from (1.14) and (1.5), we conclude that the assertion (1.11) of Lemma 3 holds true.

Similarly, for the class $K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$, we can prove the following result.
Lemma 4. Let $f \in K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$. Then

$$
\begin{equation*}
(1-\alpha) \frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)}+\alpha \frac{z\left(f_{p, k}^{m+1}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) . \tag{1.16}
\end{equation*}
$$

In the present paper, we obtain some inclusion relationships, integral representation, convolution properties and integral-preserving properties for each of the function classes $S_{p, k}^{m}(\lambda, \ell ; \varphi) ; K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi), C_{p, k}^{m}(\lambda, \ell ; \varphi)$ and $G_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$.

## 2. A SET OF INCLUSION RELATIONSHIPS

In this section, we obtain some inclusion relationships for the function classes $S_{p, k}^{m}(\lambda, \ell ; \varphi), K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi), C_{p, k}^{m}(\lambda, \ell ; \varphi)$ and $G_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi)$.

Unless otherwise mentioned we shall assume throughout the paper that $\lambda>$ $0 ; \ell \geq 0 ; p, k \in \mathbb{N}$ and $m \in \mathbb{N}_{0}$.

Theorem 1. Let $\varphi \in P$ with

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)
$$

then

$$
S_{p, k}^{m+1}(\lambda, \ell ; \varphi) \subset S_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

Proof. Making use of the relationships in equations (1.5) and (1.6), we know that

$$
\begin{gather*}
z\left(f_{p, k}^{m}(\lambda, \ell ; \varphi)\right)^{\prime}+\left[\frac{p(1-\lambda)+\ell}{\lambda}\right] f_{p, k}^{m}(\lambda, \ell ; z) \\
=\frac{p+\ell}{\lambda k} \sum_{j=0}^{k-1} \epsilon_{k}^{-j p}\left(I_{p}^{m+1}(\lambda, \ell) f\left(\epsilon_{k}^{j} z\right)\right)=\frac{p+\ell}{\lambda} f_{p, k}^{m+1}(\lambda, \ell ; z) \tag{2.1}
\end{gather*}
$$

Let $f \in S_{p, k}^{m+1}(\lambda, \ell ; \varphi)$ and suppose that

$$
\begin{equation*}
w(z)=\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} \quad(z \in U) \tag{2.2}
\end{equation*}
$$

Then $w(z)$ is analytic in $U$ and $w(0)=1$. It follows from (2.1) and (2.2) that

$$
\begin{equation*}
p w(z)+\frac{p(1-\lambda)+\ell}{\lambda}=\frac{p+\ell}{\lambda} \frac{f_{p, k}^{m+1}(\lambda, \ell ; z)}{f_{p, k}^{m}(\lambda, \ell ; z)} . \tag{2.3}
\end{equation*}
$$

Differentiating both sides of (2.3) logarithmically with respect to $z$ and using (2.2), we obtain

$$
\begin{equation*}
w(z)+\frac{z w^{\prime}(z)}{p w(z)+\frac{p(1-\lambda)+\ell}{\lambda}}=\frac{z\left(f_{p, k}^{m+1}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m+1}(\lambda, \ell ; z)} \tag{2.4}
\end{equation*}
$$

From (2.4) and Lemma 3 (with $m$ replaced by $(m+1)$ ), we can see that

$$
\begin{equation*}
w(z)+\frac{z w^{\prime}(z)}{p w(z)+\frac{p(1-\lambda)+\ell}{\lambda}} \prec \varphi(z) . \tag{2.5}
\end{equation*}
$$

Since $\operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)$, by Lemma 1, we have

$$
\begin{equation*}
w(z)=\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.6}
\end{equation*}
$$

By setting

$$
\begin{equation*}
q(z)=\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m}(\lambda, \ell ; z)} \quad(z \in U) \tag{2.7}
\end{equation*}
$$

we observe that $q(z)$ is analytic in $U$ and $q(0)=1$. It follows from (1.5) and (2.7) that

$$
\begin{equation*}
q(z) f_{p, k}^{m}(\lambda, \ell ; z)=\frac{(p+\ell)}{\lambda p} I_{p}^{m+1}(\lambda, \ell) f(z)-\frac{[p(1-\lambda)+\ell]}{\lambda p} I_{p}^{m}(\lambda, \ell) f(z) \tag{2.8}
\end{equation*}
$$

Differentiating both sides of (2.8) with respect to $z$ and using (2.7), we obtain

$$
\begin{equation*}
z q^{\prime}(z)+\left(\frac{[p(1-\lambda)+\ell]}{\lambda}+\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{f_{p, k}^{m}(\lambda, \ell ; z)}\right) q(z)=\frac{(p+\ell)}{\lambda p} \cdot \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{f_{p, k}^{m}(\lambda, \ell ; z)} . \tag{2.9}
\end{equation*}
$$

From (2.2), (2.3) and (2.9), we can obtain

$$
q(z)+\frac{z q^{\prime}(z)}{\frac{[p(1-\lambda)+\ell]}{\lambda}+p w(z)}=\frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z)
$$

Since

$$
w(z) \prec \varphi(z)
$$

and

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{[p(1-\lambda)+\ell]}{\lambda}\right\}>0 \quad(z \in U)
$$

it follows from (2.9) and Lemma 2 that

$$
q(z) \prec \varphi(z)
$$

that is, that $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. This implies that

$$
S_{p, k}^{m+1}(\lambda, \ell ; \varphi) \subset S_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

Hence the proof of Theorem 1 is completed.
Theorem 2. Let $\varphi \in P$ with

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{[p(1-\lambda)+\ell]}{\lambda}\right\}>0 \quad(z \in U)
$$

Then

$$
C_{p, k}^{m+1}(\lambda, \ell ; \varphi) \subset C_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

Proof. Suppose that $f \in C_{p, k}^{m+1}(\lambda, \ell ; \varphi)$. Then we have

$$
\begin{equation*}
\frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.10}
\end{equation*}
$$

with $g \in S_{p, k}^{m+1}(\lambda, \ell ; \varphi)$. Furthermore, it follows from Theorem 1 that $g \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$, and Lemma 3 yields

$$
\begin{equation*}
\psi(z)=\frac{z\left(g_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p g_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.11}
\end{equation*}
$$

We now set

$$
\begin{equation*}
q(z)=\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)} \quad(z \in U) \tag{2.12}
\end{equation*}
$$

Then $q(z)$ is analytic in $U$ and $q(0)=1$. It follows from (1.5) and (2.12) that

$$
\begin{equation*}
q(z) g_{p, k}^{m}(\lambda, \ell ; z)=\frac{(p+\ell)}{\lambda p} I_{p}^{m+1}(\lambda, \ell) f(z)-\frac{[p(1-\lambda)+\ell]}{\lambda p} I_{p}^{m}(\lambda, \ell) f(z) \tag{2.13}
\end{equation*}
$$

Differentiating both sides of (2.13) with respect to $z$ and using (2.1) (with $f$ replaced by $g$ ), we have

$$
\begin{equation*}
z q^{\prime}(z)+\left(\frac{p(1-\lambda)+\ell}{\lambda}+\frac{z\left(g_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{g_{p, k}^{m}(\lambda, \ell ; z)}\right) q(z)=\frac{(p+\ell)}{\lambda p} \cdot \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{g_{p, k}^{m}(\lambda, \ell ; z)} \tag{2.14}
\end{equation*}
$$

From (2.10), (2.11) and (2.14), we can obtain

$$
\begin{equation*}
q(z)+\frac{z q^{\prime}(z)}{\frac{[p(1-\lambda)+\ell]}{\lambda}+p \psi(z)}=\frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.15}
\end{equation*}
$$

Since

$$
\psi(z) \prec \varphi(z)
$$

and

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)
$$

it follows from (2.15) and Lemma 2 that

$$
q(z) \prec \varphi(z),
$$

that is, that $f \in C_{p, k}^{m}(\lambda, \ell ; \varphi)$. This implies that

$$
C_{p, k}^{m+1}(\lambda, \ell ; \varphi) \subset C_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

The proof of Theorem 2 is thus completed.
Theorem 3. Let $\varphi \in P$ with

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)
$$

then

$$
G_{p, k}^{m}\left(\lambda, \ell ; \alpha_{2} ; \varphi\right) \subset G_{p, k}^{m}\left(\lambda, \ell ; \alpha_{1} ; \varphi\right)\left(\alpha_{2}>\alpha_{1} \geq 0\right)
$$

Proof. Suppose that $f \in G_{p, k}^{m}\left(\lambda, \ell, \alpha_{2} ; \varphi\right)$. Then we have

$$
\begin{equation*}
\left(1-\alpha_{2}\right) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)}+\alpha_{2} \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.16}
\end{equation*}
$$

Since $g \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$, it follows from (2.11) to (2.16) that

$$
\begin{gather*}
q(z)+\frac{\alpha_{2} z q^{\prime}(z)}{\frac{p(1-\lambda)+\ell}{\lambda}+p \psi(z)}=\left(1-\alpha_{2}\right) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)}+ \\
\alpha_{2} \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f(z)\right)^{\prime}}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \prec \varphi(z) . \tag{2.17}
\end{gather*}
$$

Since

$$
\psi(z) \prec \varphi(z)
$$

and

$$
\frac{1}{\alpha_{2}} \operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)
$$

it follows from (2.17) and Lemma 2 that

$$
\begin{equation*}
q(z)=\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{2.18}
\end{equation*}
$$

Moreover, since $0 \leq \frac{\alpha_{1}}{\alpha_{2}}<1$ and the function $\varphi(z)$ is convex and univalent in $U$, we deduce from (2.17) and (2.18) that

$$
\begin{aligned}
& \left(1-\alpha_{1}\right) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)}+\alpha_{1} \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)} \\
= & \frac{\alpha_{1}}{\alpha_{2}}\left[\left(1-\alpha_{2}\right) \frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m}(\lambda, \ell ; z)}+\alpha_{2} \frac{z\left(I_{p}^{m+1}(\lambda, \ell) f\right)^{\prime}(z)}{p g_{p, k}^{m+1}(\lambda, \ell ; z)}\right]+\left(1-\frac{\alpha_{1}}{\alpha_{2}}\right) q(z) \\
\prec & \varphi(z),
\end{aligned}
$$

which implies that $f \in G_{p, k}^{m}\left(\lambda, \ell ; \alpha_{1} ; \varphi\right)$. Hence the proof of Theorem 3, is completed
By applying the same method of Theorem 3, we can easily get the following inclusion relationship.
Corollary 1. Let $\varphi \in P$ with

$$
\operatorname{Re}\left\{p \varphi(z)+\frac{p(1-\lambda)+\ell}{\lambda}\right\}>0 \quad(z \in U)
$$

Then $K_{p, k}^{m}\left(\lambda, \ell ; \alpha_{2} ; \varphi\right) \subset K_{p, k}^{m}\left(\lambda, \ell ; \alpha_{1} ; \varphi\right)\left(\alpha_{2}>\alpha_{1} \geq 0\right)$.
In view of Theorem 3, we can also easily get the following inclusion relationships. In particular, a direct proof of Corollary 2 would require use of Lemma 4.
Corollary 2. Let $\alpha \geq 0$ and $\varphi \in P$. Then

$$
G_{p, k}^{m}(\ell ; \alpha ; \varphi) \subset C_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

Corollary 3. Let $\alpha \geq 0$ and $\varphi(z) \in P$. Then

$$
K_{p, k}^{m}(\lambda, \ell ; \alpha ; \varphi) \subset S_{p, k}^{m}(\lambda, \ell ; \varphi)
$$

## 3. Integral representation

In this section, we obtain a number of integral representations associated with the function class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$.
Theorem 4. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
\begin{equation*}
f_{p, k}^{m}(\lambda, \ell ; z)=z^{p} \exp \left\{\frac{p}{k} \sum_{j=0}^{k-1} \int_{0}^{z} \frac{\varphi\left(w\left(\in_{k}^{j} \xi\right)\right)-1}{\xi} d \xi\right\} \tag{3.1}
\end{equation*}
$$

where $f_{p, k}^{m}(\lambda, \ell ; z)$ is defined by (1.6), $w(z)$ is analytic in $U$ and satisfy $w(0)=1$ and $|w(z)|<1(z \in U)$.

Proof. Suppose that $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then condition (1.7) can be written as follows:

$$
\begin{equation*}
\frac{z\left(I_{p}^{m}(\lambda, \ell) f(z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)}=\varphi(w(z))(z \in U) \tag{3.2}
\end{equation*}
$$

where $w(z)$ is analytic in $U$ and satisfy $w(0)=1$ and $|w(z)|<1(z \in U)$. Replacing $z$ by $\in_{k}^{j} z(j=0,1, \ldots, k-1)$ in (3.2), we observe that (3.2) becomes

$$
\begin{equation*}
\frac{\epsilon_{k}^{j} z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}\left(\in_{k}^{j} z\right)}{p f_{p, k}^{m}\left(\lambda, \ell ; \in_{k}^{j} z\right)}=\varphi\left(w\left(\in_{k}^{j} z\right)\right)(z \in U) \tag{3.3}
\end{equation*}
$$

We note that

$$
f_{p, k}^{m}\left(\lambda, \ell ; \in_{k}^{j} z\right)=\epsilon_{k}^{j p} f_{p, k}^{m}(\lambda, \ell ; z)(z \in U)
$$

Thus, by letting $j=0,1, \ldots, k-1$ in (3.3), successively, and summing the resulting equations, we have

$$
\begin{equation*}
\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)}=\frac{1}{k} \sum_{j=0}^{k-1} \varphi\left(w\left(\epsilon_{k}^{j} z\right)\right) \quad(z \in U) \tag{3.4}
\end{equation*}
$$

From (3.4), we get

$$
\begin{equation*}
\frac{\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{f_{p, k}^{m}(\lambda, \ell ; z)}-\frac{p}{z}=\frac{p}{k} \sum_{j=0}^{k-1}\left[\frac{\varphi\left(w\left(\in_{k}^{j} z\right)\right)-1}{z}\right](z \in U) \tag{3.5}
\end{equation*}
$$

which, upon integration, yields

$$
\begin{equation*}
\log \left(\frac{f_{p, k}^{m}(\lambda, \ell ; z)}{z^{p}}\right)=\frac{p}{k} \sum_{j=0}^{k-1} \int_{0}^{z} \frac{\varphi\left(w\left(\epsilon_{k}^{j} \xi\right)\right)-1}{\xi} d \xi \tag{3.6}
\end{equation*}
$$

Then, the assertion (3.1) of Theorem 4 can now easily obtained from (3.6).
Theorem 5. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
\begin{equation*}
I_{p}^{m}(\lambda, \ell) f(z)=p \int_{0}^{z} \zeta^{p-1} \varphi(w(\zeta)) \cdot \exp \left(\frac{p}{k} \sum_{j=0}^{k-1} \int_{0}^{\zeta} \frac{\varphi\left(w\left(\epsilon_{k}^{j} \xi\right)\right)-1}{\xi} d \xi\right) d \zeta \tag{3.7}
\end{equation*}
$$

where $w(z)$ is analytic in $U$ and satisfy $w(0)=1$ and $|w(z)|<1(z \in U)$.

Proof. Suppose that $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then, from (3.1) and (3.2), we have

$$
\begin{gather*}
\left(I_{p}^{m}(\lambda, \ell) f(z)\right)^{\prime}=\frac{p f_{p, k}^{m}(\lambda, \ell ; z)}{z} \varphi(w(z)) \\
=p z^{p-1} \varphi(w(z)) \cdot \exp \left(\frac{p}{k} \sum_{j=0}^{k-1}{ }_{0}^{z} \frac{\varphi\left(w\left(\epsilon_{k}^{j} \xi\right)\right)-1}{\xi} d \xi\right), \tag{3.8}
\end{gather*}
$$

which, upon integration, leads us easily to the assertion (3.7) of Theorem 5.
Remark 5. Putting $p=\lambda=1$ and $\ell=m=0$ in Theorem 5, we obtain the result obtained by Wang et al. [20,Theorem 6].
Moreover, in view of Lemma 3 and Theorem 1, we can get integral representation for the function class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$.
Theorem 6. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
I_{p}^{m}(\lambda, \ell) f(z)=p_{0}^{z} \zeta^{p-1} \varphi\left(w_{2}(\zeta)\right) \cdot \exp \left(\begin{array}{l}
\xi  \tag{3.9}\\
0
\end{array} \frac{p\left[\varphi\left(w_{1}(\xi)\right)-1\right]}{\xi} d \xi\right) d \xi
$$

where $w_{j}(z)(j=1,2)$ are analytic in $U$ with $w_{j}(0)=0$ and $\left|w_{j}(z)\right|<1(z \in U ; j=$ $1,2)$.

Proof. Suppose that $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. We then find from (1.11) that

$$
\begin{equation*}
\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)}=\varphi\left(w_{1}(z)\right) \quad(z \in U) \tag{3.10}
\end{equation*}
$$

where $w_{1}(z)$ is analytic in $U$ with $w_{1}(0)=1$. Thus, by similarly applying the method of proof of Theorem 4, we find that

$$
\begin{equation*}
f_{p, k}^{m}(\lambda, \ell ; z)=z^{p} \cdot \exp \left({ }_{0}^{z} \frac{p\left[\varphi\left(w_{1}(\xi)\right)-1\right]}{\xi} d \xi\right) \tag{3.11}
\end{equation*}
$$

It now follows from (3.2) and (3.11) that

$$
\begin{align*}
\left(I_{p}^{m}(\lambda, \ell) f(z)\right)^{\prime}= & \frac{p f_{p, k}^{m}(\lambda, \ell ; z)}{z} \cdot \varphi\left(w_{2}(z)\right) \\
& =p z^{p-1} \varphi\left(w_{2}(z)\right) \cdot \exp \left({ }_{0}^{z} \frac{p\left[\varphi\left(w_{1}(\xi)\right)-1\right]}{\xi} d \xi\right), \tag{3.12}
\end{align*}
$$

where $w_{j}(z)(j=1,2)$ are analytic in $U$ with $w_{j}(0)=0$ and $\left|w_{j}(z)\right|<1(z \in U ; j=$ $1,2)$. Integrating both sides of (3.12), we will obtain the assertion (3.9) of Theorem 6.

## 4. Convolution properties

In this section, we derive some convolution properties for the class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Theorem 7. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
\begin{align*}
f(z)=\left[p_{0}^{z} \zeta^{p-1}\right. & \left.\varphi(w(\zeta)) \cdot \exp \left(\frac{p}{k} \sum_{j=0}^{k-1}{ }_{0}^{\zeta} \frac{\varphi\left(w\left(\in_{k}^{j} \xi\right)\right)-1}{\xi} d \xi\right) d \zeta\right] * \\
& *\left(\sum_{n=0}^{\infty}\left(\frac{p+\ell}{p+\ell+\lambda n}\right)^{m} z^{n+p}\right) \tag{4.1}
\end{align*}
$$

where $w(z)$ is analytic in $U$ with $w(0)=1$ and $|w(z)|<1 \quad(z \in U)$.

Proof. In view of (1.4) and (3.7), we know that

$$
\begin{align*}
& p_{0}^{z} \zeta^{p-1} \varphi(w(\zeta)) \cdot \exp \left(\frac{p}{k} \sum_{j=0}^{k-1}{ }_{0}^{\zeta} \frac{\varphi\left(w\left(\in_{k}^{j} \xi\right)\right)-1}{\xi} d \xi\right) d \zeta \\
= & \left(z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m} z^{n+p}\right) * f(z)=\phi_{p, \lambda, \ell}^{m}(z) * f(z) . \tag{4.2}
\end{align*}
$$

Thus, from (4.2), we can easily get the assertion (4.1) of Theorem 7.
Theorem 8. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then

$$
\begin{gather*}
f(z)=\left[p_{0}^{z} \zeta^{p-1} \varphi\left(w_{2}(\zeta)\right) \cdot \exp \left({ }_{0}^{\zeta} \frac{p\left[\varphi\left(w_{1}(\xi)\right)-1\right]}{\xi} d \xi\right) d \zeta\right] * \\
*\left(\sum_{n=0}^{\infty}\left(\frac{p+\ell}{p+\ell+\lambda n}\right)^{m} z^{n+p}\right) \tag{4.3}
\end{gather*}
$$

where $w_{j}(z)(j=1,2)$ are analytic in $U$ with $w_{j}(0)=0$ and $\left|w_{j}(z)\right|<1(z \in U ; j=$ $1,2)$.

Proof. In view of (1.4) and (3.9), we know that

$$
\begin{gather*}
p_{0}^{z} \zeta^{p-1} \varphi\left(w_{2}(\zeta)\right) \cdot \exp \left(\frac{\zeta}{0} \frac{p\left[\varphi\left(w_{1}(\xi)\right)-1\right.}{\xi} d \xi\right) d \zeta \\
=\left(z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m} z^{n+p}\right) * f(z)=\phi_{p, \lambda, \ell}^{m}(z) * f(z) \tag{4.4}
\end{gather*}
$$

Thus, from (4.4), we easily obtain (4.3).
Theorem 9. Let $f \in A(p)$ and $\varphi \in P$. Then $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$ if and only if

$$
\begin{gather*}
\frac{1}{z}\left\{f * \left[\left(p z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m}(n+p) z^{n+p}\right)\right.\right. \\
\left.\left.-p \varphi\left(e^{i \theta}\right)\left(z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m} z^{n+p}\right) *\left(\frac{1}{k} \sum_{\nu=0}^{k-1} \frac{z^{p}}{1-\epsilon^{\nu} z}\right)\right]\right\} \neq 0 \\
(z \in U ; 0 \leq \theta<2 \pi) \tag{4.5}
\end{gather*}
$$

Proof. Suppose that $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Since

$$
\frac{z\left(I_{p}^{m}(\lambda, \ell) f(z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z)
$$

is equivalent to

$$
\begin{equation*}
\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p f_{p, k}^{m}(\lambda, \ell ; z)} \neq \varphi\left(e^{i \theta}\right) \quad(z \in U ; 0 \leq \theta<2 \pi) \tag{4.6}
\end{equation*}
$$

it is easy to see that the condition (4.6) can be written as follows:

$$
\begin{equation*}
\frac{1}{z}\left[z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)-p f_{p, k}^{m}(\lambda, \ell ; z) \varphi\left(e^{i \theta}\right)\right] \neq 0 \quad(z \in U ; 0 \leq \theta<2 \pi) \tag{4.7}
\end{equation*}
$$

On the other hand, we know from (1.4) that

$$
\begin{equation*}
z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)=\left(p z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m}(n+p) z^{n+p}\right) * f(z) \tag{4.8}
\end{equation*}
$$

Also, from the definition of $f_{p, k}^{m}(\lambda, \ell ; z)$, we have

$$
\begin{gather*}
f_{p, k}^{m}(\lambda, \ell ; z)=I_{p}^{m}(\lambda, \ell) f(z) *\left(\frac{1}{k} \sum_{\nu=0}^{k-1} \frac{z^{p}}{1-\epsilon^{\nu} z}\right) \\
=\left(z^{p}+\sum_{n=1}^{\infty}\left(\frac{p+\ell+\lambda n}{p+\ell}\right)^{m} z^{n+p}\right) *\left(\frac{1}{k} \sum_{\nu=0}^{k-1} \frac{z^{p}}{1-\epsilon^{\nu} z}\right) * f(z) . \tag{4.9}
\end{gather*}
$$

Upon substituting from (4.8) and (4.9) in (4.7), we can easily obtain the convolution property (4.5) asserted by Theorem 9.

## 5. Integral-Preserving properties

In this section, we prove some integral - preserving properties for the class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$.
Theorem 10. Let $\varphi \in P$ and

$$
\operatorname{Re}\{p \varphi(z)+\mu\}>0 \quad(z \in U)
$$

If $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$, then the function $F(z) \in A(p)$ defined by

$$
\begin{equation*}
F(z)={\frac{\mu+p^{z}}{z^{\mu}}}_{0}^{z} t^{\mu-1} f(t) d t \quad(\mu>-p ; z \in U) \tag{5.1}
\end{equation*}
$$

belongs to the class $S_{p, k}^{m}(\lambda, \ell ; \varphi)$.
Proof. Let $f \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. Then, from (5.1), we find that

$$
\begin{equation*}
z\left(I_{p}^{m}(\lambda, \ell) F(z)\right)^{\prime}+\mu I_{p}^{m}(\lambda, \ell) F(z)=(\mu+p) I_{p}^{m}(\lambda, \ell) f(z) \tag{5.2}
\end{equation*}
$$

Thus, in view of (1.6) and (5.1), we have

$$
\begin{equation*}
z\left(F_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}+\mu F_{p, k}^{m}(\lambda, \ell ; z)=(\mu+p) f_{p, k}^{m}(\lambda, \ell ; z) \tag{5.3}
\end{equation*}
$$

We now put

$$
\begin{equation*}
H(z)=\frac{z\left(F_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p F_{p, k}^{m}(\lambda, \ell ; z)} \quad(z \in U) \tag{5.4}
\end{equation*}
$$

Then $H(z)$ is analytic in $U$ and $H(0)=1$. It follows from (5.3) and (5.4) that

$$
\begin{equation*}
\mu+p H(z)=(\mu+p) \frac{f_{p, k}^{m}(\lambda, \ell ; z)}{F_{p, k}^{m}(\lambda, \ell ; z)} \tag{5.5}
\end{equation*}
$$

Differentiating both sides of (5.5) logarithmically with respect to $z$ and using Lemma 3, we obtain

$$
\begin{equation*}
H(z)+\frac{z H^{\prime}(z)}{\mu+p H(z)}=\frac{z\left(f_{p, k}^{m}(\lambda, \ell ; z)\right)^{\prime}}{p f_{p, k}^{m}(\lambda, \ell ; z)} \prec \varphi(z) \tag{5.6}
\end{equation*}
$$

Since $\operatorname{Re}\{p \varphi(z)+\mu\}>0(z \in U)$, it follows from (5.6) and Lemma 1 that $H(z) \prec$ $\varphi(z) \quad(z \in U)$. Furthermore, we suppose that

$$
G(z)=\frac{z\left(I_{p}(\lambda, \ell) F(z)\right)^{\prime}}{p F_{p, k}^{m}(\lambda, \ell ; z)} \quad(z \in U)
$$

The remainder of the proof of Theorem 10 is similar to that of Theorem 1. We, therefore, choose to omit the analogous details involved. We thus find that

$$
G(z) \prec \varphi(z),
$$

which implies that $F(z) \in S_{p, k}^{m}(\lambda, \ell ; \varphi)$. This completes the proof of Theorem 10 .
Theorem 11. Let $\varphi \in P$ and

$$
\operatorname{Re}\{p \beta \varphi(z)+\mu\}>0 \quad(z \in U)
$$

If $f \in S_{p, 1}^{m}(\lambda, \ell ; \varphi)$, then the function $R(z) \in A(p)$ defined by

$$
\begin{equation*}
I_{p}^{m}(\lambda, \ell) R(z)=\left\{\frac{\mu+p \beta^{z}}{z^{\mu}} t^{\mu-1}\left(I_{p}^{m}(\lambda, \ell) f(t)\right)^{\beta} d t\right\}^{\frac{1}{\beta}}(z \in U) \tag{5.7}
\end{equation*}
$$

belongs to the class $S_{p, 1}^{m}(\lambda, \ell ; \varphi)$.
Proof. Suppose that $f \in S_{p, 1}^{m}(\lambda, \ell ; \varphi)$. Then, by Definition 1, we have

$$
\begin{equation*}
\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p I_{p}^{m}(\lambda, \ell) f(z)} \prec \varphi(z) . \tag{5.8}
\end{equation*}
$$

We now set

$$
\begin{equation*}
D(z)=\frac{z\left(I_{p}^{m}(\lambda, \ell) R\right)^{\prime}(z)}{p I_{p}^{m}(\lambda, \ell) R(z)} \tag{5.9}
\end{equation*}
$$

From (5.7), (5.8) and (5.9), we have

$$
\begin{equation*}
\mu+p \beta D(z)=(\mu+p \beta)\left(\frac{I_{p}^{m}(\lambda, \ell) f(z)}{I_{p}^{m}(\lambda, \ell) R(z)}\right)^{\beta} \tag{5.10}
\end{equation*}
$$

Using (5.7), (5.8) and (5.9), we can get

$$
\begin{equation*}
D(z)+\frac{z D^{\prime}(z)}{\mu+p \beta D(z)}=\frac{z\left(I_{p}^{m}(\lambda, \ell) f\right)^{\prime}(z)}{p I_{p}^{m}(\lambda, \ell) f(z)} \prec \varphi(z) . \tag{5.11}
\end{equation*}
$$

Since

$$
\operatorname{Re}\{p \beta \varphi(z)+\mu\}>0 \quad(z \in U)
$$

it follows from (5.11) and Lemma 1 that

$$
D(z) \prec \varphi(z),
$$

that is, that $R(z) \in S_{p, 1}^{m}(\lambda, \ell ; \varphi)$. This completes the proof of Theorem 11.
Remark 6 (i) Putting $\lambda=1$ and $\ell=0$ in the above results, we obtain corresponding results for the operator $D_{p}^{m}$;
(ii) Putting $\ell=0$ in the above results, we obtain corresponding results for the operator $D_{\lambda, p}^{m}$;
(iii) Putting $\lambda=1$ in the above results, we obtain corresponding results for the operator $I_{p}(m, \ell)$.

## References

[1] F. M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, Internat.J. Math. Math. Sci., 27(2004), 1429-1436.
[2] M. K. Aouf, On a class of p-valent close-to-convex functions of order $\beta$ and type $\alpha$, Internat.J. Math. Math. Sci., 11(1988), no.2, 259-266.
[3] M. K. Aouf and A. O. Mostafa, On a subclass of n-p-valent prestarlike functions, Comput. Math. Appl., (2008), no. 55, 851-861.
[4] A. Catas, On certain classes of p-valent functions defined by multiplier transformations, in Proc. Book of the International Symposium on Geometric Function Theory and Applications, Istanbul, Turkey, (August 2007), 241-250.
[5] N. E. Cho and T. H. Kim, Multiplier transformations and strongly close-to-convex functions, Bull. Korean Math. Soc., 40(2003), no. 3, 399-410.
[6] N. E. Cho and H. M. Srivastava, Argument estimates of certain analytic functions defined by a class of multiplier transformations, Math. Comput. Modelling, 37 (1-2)(2003), 39-49.
[7] P. Eenigenburg, S. S. Miller, P. T. Mocanu adn M. O. Reade, On a Briot-Bouquet differential subordination, General Inequalities 3(1983), (Birkhauser Verlag), 339-348.
[8] R. M. El-Ashwah and M. K. Aouf , Inclusion and neighborhoods properties of Some analytic p-valent functions, General Math., 18 (2010), no. 2, 183-194.
[9] M. Kamali and H. Orhan, On a subclass of certain starlike functions with negative coefficients, Bull. Korean Math. Soc. 41(2004), no. 1, 53-71.
[10] S. S. Kumar, H. C. Taneja and V. Ravichandran, Classes multivalent functions defined by Dziok-Srivastava linear operator and multiplier transformations, Kyungpook Math. J. (2006), no. 46, 97-109.
[11] S. S. Miller and P. T. Mocanu, Second order differential inequalities in the complex plane, J. Math. Anal. Appl., 65(1978), 289-305.
[12] S. S. Miller and P. T. Mocanu, On some classes of first order differential subordination, Michigan Math. J. 32(1985), 185-195.
[13] S. S. Miller and P. T. Mocanu, Differential Subordinations: Theory and Applications, Series on Monographs and Textbooks in Pure and Appl. Math. No. 225 Marcel Dekker, Inc. New York, 2000.
[14] K. I. Noor, On quasi-convex functions and related topics, Internat. J. Math. Math. Sci., 10(1987), 241-258.
[15] H. Orhan and H. Kiziltunc, A generalization on subfamily of p-valent functions with negative coefficients, Appl. Math. Comput., 155 (2004), 521-530.
[16] K. S. Padmanabhan and R. Parvathem, Some applications of differential subordination, Bull. Austral. Math. Soc., 32 (1985), 321-330.
[17] G. S. Salagean, Subclasses of univalent functions, Lecture Notes in Math. ( Springer-Verlag ) 1013(1983), 362-372.
[18] H. M. Srivastava, K. Suchithra, B. Adolf Stephen and S. Sivasubramanian, Inclusion and neighborhood properties of certain subclasses of multivalent functions of complex order, J. Ineq. Pure Appl. Math., 7 (2006), no. 5, Art., 191, 1-8.
[19] B. A. Uralegaddi and C. Somanatha, Certain classes of univalent functions, In Current Topics in Analytic Function Theory, (Edited by H. M. Srivastava and S. Owa), World Scientfic Publishing Company, Singapore, 1992, 371-374.
[20] Z. Wang, C. Gao and M. Liao, On certain subclasses of close-to-convex and quasi-convex functions with respect to k-symmetric points, J. Math. Anal. Appl., 322(2006), 97-106.
[21] S.-M. Yuan and Z.-M. Liu, Some properties of $\alpha$-convex and $\alpha$-quasi-convex functions with respect to n-symmetric points, Appl. Math. Comput. 188(2007), 1142-1150.
R. M. El-Ashwah, Faculty of Science, Damietta University, New Damietta 34517, Egypt

E-mail address: r_elashwah@yahoo.com


[^0]:    2000 Mathematics Subject Classification. Mathematics Subject Classification : 30C45.
    Key words and phrases. Subordination, analytic, multivalent, multiplier transformations.
    Submitted Sept. 7, 2012. Published July 1, 2013.

